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input Out put

{= Time converter.py Enter the time: 2

Enter the scale Time M for Minute or S for Second: M

print(Time * 60, 's')
else:
print(Time / 60, 'M')

1 #opasiadl ga il Juil

2 Time = float(input('Enter the time : ')) 120.0°s
3 #oediedl e il i Jlaiu

4 Scale = input('Enter the scale Time M for Minute Or S for Second:')

5 A odaadl pdadl e fly csll s

6 if Scale == 'M':

7

8

9

13



=

oy leill gl yihiwll

k“ﬂ.i_ijI QO _nNnell

JUl gcay duclon aly 16 (ueo £9ngo Jaa Jlaskll (o (a0 sac bl gl U] wagh il
692 ol Wlamlll Guonil Ly lig angill go pdeall jgo g adeiall (u aJE paaillg gl Ul

sl JAaddlh le gl python la aolip s :dl io
input Out put
1 # \_;;,_:}\ Ne Run: star
2 n=éag wl P C:\Users\HP\PycharmProjects\pythonF
3 g s *
.o S —_ x %
4 for i in range(1, n + 1): 3 5
.. . . . L) * % %
5 # Al 4o g Baalg daad dclih =3
o a o | B8 * % % %
6 print("x " % i) 3 =
(s}
7 EA d . ) .
. Process finished with exit code 0O
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Python aoliy 16 aalixal Iuleglnggulu&_LQJ__"' | 2yl N6 g6 ebldo oyrdioly @ LJU-O

logaled il aumlaall Ginig clpeiall pasiud dhuw Jolp 8lis (ualeiall jo wdhi @
alwll gle cunig o Jooll elifl angill aleall p28) @
mmlmmeMQQMUIwwlmgm o

#oo il iy s

age = 25

name = "Ahmed"
is_student = True
height = 175.5

# sl o el
print("Name:", name)
print("Age:", age)

print("Is student:", is_student)
print("Height:", height)

20Uy 16 lgaud Jaeig uilpeiall pladiul duats angi dunl jplao 6chs (aleiall jo clh @

2blao 10 ajambio 0F o Guhi Jul wagi dwauhi Ol auhid ol Guwljall ol asg 1o @

.Python

LBuuo alwyall gyasall

Run: num

> Name: Ahmed

E 3 Age: 25

g — Is student: True

& )

n m Height: 175.5

o = .

2 - L . .

g Process finished with exit code 0
AR |
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o pll Alo=ill Joaill dyA
input
1 B il Gy el
2 numl = 10
3 num2 = 5 V
4 Define
S # el num1 =10
6 result = numl + num2 num2 =5
7
8 # i el
9 print(".s 5L, result)
10 Calculate sum

Out put :
/ Output result /

Run: sum

> C:\Users\HP\PycharmProjects\pythonProject4\.venv\Scripts\python.exe

y’ 15 1o u

Process finished with exit code 0 o
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a0l U] JA a0 :yugjall dha

axopll pggao :axopll yul Jaao
- (python)daopll a2l aoliy clidl wighy

dwwl)d dn Alado A duojjlgh ailis

Python 1 .aladiio A el goai dng A owoni

[(PyCharm) yolgl jja0 plariwl

.(Print) Gawoaodl dlal  gle Opeil :aaopdl all JAro @

Guwl)d ann Ll Jshe e oyl @

python 2 gl 1o Sl J5ho clgil ojen @
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bl Jsuo glgil e oyl
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C=—
?
=

axopll ll JAdo augwhh ulalhno

_

(Algorithm) éuojjlgall (Programming) dawopll
(Input):alibwl JAo| dulac (Flow Chart) Goail hila
Process)a]lsm]l aulac (Output) calild! alpl aulac

(Programming Language) dao pll asl (Decision) i 3Ll

_

(Code Editor) duao pl Ulayl=Ul jao (PyCharm) polgll jjao
(Python file) Jglb wlo Joull ulalo J19) UD.H £qpiuo gI Ao
(Project)

(Compiler) o jioll Run joll
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axopll sl JAdo daugwhh ulalhno

(Main Menu) duwudpl odlgall (Interpreter) puaoll
awgUl bl Js5uo (Data structure) ol J5uo

(Primitive Data Structures)

(Float)éu pirell slacll (Integer)axanll slaclll
ER T
(Boolean)daugh il atibll (String) dwnil aluu!
aunhAll bl J5uo awqll pe vl J5uo
(Linear Data Structures) (Non-primitive Data Structures)
T
(Set)acqoanll (List) &l

(Tuple)wan! (Dictionary) wugolall

(Tree)s il &l e bl Jsho

(Non-linear Data Structures)

il
(Graph) jubw! owwl
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(22

S(Interpreter) yuaollg (Compiler) oajiall (Ju §)all go Lo

(Interpreter) | waall

(0 8386 gl Jh iy ljh w cilaydeill dan
aolipl

(Compiler) o jiall ajjL_aall

o> Jolau dunopll Oloweil danyi
el a.oljpb 0210ijg 611lg

Ao il cubg 10 jw -
il asg 10 e iy -

Aoyl adg 16 e iy -
sl a6g (10 2w -

il el phuw hw elaa Dl sy

il 16 6111g deod elhA Ul diti4y clhAalll wlisl

Qaolplo

odleoll Ulhn 1o

16 025wl dgalg iligho (Ul Giaill uiny jaadl 530U A pdb dic: pariwall dgalg b
WigoDl A6lgig aunagill 636U 1 (console) alall 630U ggq)iiall 630U U5 16 Loy PyCharm o

gl

practl.py Wio . .py oalaioIgLaLoJIbmulgb'Auucyb:LUI I <> I

2 et o wpaleioll slabiad e el aolipdl dgalg ar nAd jhay: dgalgll yarnag

GSehall Jigwil Jlglll aunai gl hall

16 aleio J5 jlaiwl laa) Josll duwla elgiil ae) aleio J4) gqpitall GUel ool e Aybll &

hao ay apaldl ol glgl Aaii
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oleollulhnllo b

:adl ulghAldl cbil elifay .PyCharm J10 hall aang ggi el :u@\u:

file aadlo (po settings yoUl JuiAl 1

.Settings 620U (po appearance and behavior J audlJl aadlall (jo Editor jJuiAa Ul 22 2

- asglihall Ul 38T o Editor (o Font icjall pollljuial 3

-Apply henll Ol guiai 4

;e alghaJl glil elifny PyCharm 16 dublidl duala jgl jusil

file aadlo (po settings yoUl JuiAl 1

Settings 620l (o appearance and behavior J il dajlall (jo Appearance JuiA Ul 2Jang 2

wgdall theme Jial aiy 3

- Apply henll dlpueil Gudni 4
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ol gl Jaao:Ja=ll glig

1 JUo
Ug@ﬂluﬁ;@@lp&@ﬁ@@l@'u%weﬁukm: alauiall

100 gl agle pguisiall o5

danlg wigha Jul o piull ouudi agall (o i poleiol 8po Jgl Jlial 2o o pdd

awlwl ouolao 0ya0ig

aulwadl ollagll e doado 1

(o Ao wlhiy aolip gl ghelsg ol jaallg alaanl oggao .2
() Ao aheig (Bukasll ggig plojLl) pariuLall

duojjlgall cilghy A pi

ool 16 (o () Joll as gl Jiol 1

o8 Tuadl 16 (o ( oléodl) ulldl asyl Jiaol .2

o alwy 2ol oy 4o = plaodl gls o 131 jWial .3
(annll asgl Jaol, Jao ile dawdll jgay 1)

aauwdll dioc g oo gl U oldoll s Lo 131 jLisl4

bl e @il p)c.5
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axopll gl JAao : Jaell Gliol

(Flowchart) §oaill ahyA epu“u

lpib 231wl gf pualeiall grolao sile gjgo §)g 9l 6jguull sile Goaill g 16 lgbléwlg drojjlgall

oguw ol Jadllcuun eja U5 Al lgoyel

Ll

:

(danssll) p guddial) a8 Jaal

Y

(Paal) ) Adde o guiall B ) a0

oolipllanly 4 (Start) agladl

poflJBaol- | o
() Jolll
028wl 16 4o
YN
( plaall) il
028wl 16 (4o

JAaol
LAl

’L'hﬂ Jaai
[ (e st ax)

Yes

LI

oguall Jo Ganl

[16 ATl
aulc < Jjo

Joo = plaall Jo 16
JAol) auls dlwy pie
J19luwy U oac) olaall

(oo

Jiguu Jalk 10
Jan

e doudll aJ'U Najl«

«  ubpall

coupialgh - o (End) dulgill

Qobpl juirlg Jusuind lgeuiy dunop laled gl lgligaig gl don i
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a0l Ul JAao - Jasll glyl

alsiall - (9) Lo
audlidl e "Hello, Kuwait!" loa dclial Ay polip &ilis
:auojjlgall

aublidl e "Hello, Kuwait!" gaill el print () @lal oaniwl

ol Ciloeill Goaul dnya
input
# _.._.._.1| _J.C _1,\.;_1‘ _.C _.1_‘)
2 print("Hello, Kuwait!") v
/ Output "Hello Kuwait!/

Out put
> C:\Users\HP\PycharmProjects\pythonProject
y2 Hello, Kuwait! e

:alauall . (3)d|i°

.apjcq algb drogleoy Jhiuo o Jwn) houy aolip alis

:ayoj)lgAll

—_

(i) pa5Tusall 4o Johl B0 i
{jial) p23soll 40, pyellGos6 bl
WwrlixJahll=aalwall : dlbleoll planiwl dabuodl cuwal

IV N
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axopll gl JAao : Jaell Gliol

:aladioll : (3)JLLo b

ol Sloyledll

input

OV 00 9 00 O N NN

H#oadiaall e Al L)
length = float(input("Enter the length in meters: "))
width = float(input("Enter the width in meters: "))

# i) aaaiily dalidl Cles

area = length * width

# oAl (a e

print("Area = ", area, "m"2")

Out put

& Yl

C:\Users\HP\PycharmProjects\pythonProject
Enter the length in meters: 12

Enter the width in meters: ¢

Area = 108.0 m"2

Joail dhya

auojjlgall

\V

Enter Length (meters)

h 4

Enter Width (meters)

|

Calculate Area = Length x Width

Y

/Output Area (square meters)/

(1-1) Joc déjg Ja
Aol

o cun ] dpwaigh JAam Dl éaluo (uilgdl eliwls JUA (1o

/ Enter Radius (r) in meters /

Calculate
Area=314"r*r

A

/ Output Area (square meters) /

37
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arojjloall

- (Nl ani oariwoll o bl 1
ableall plaraiwl 6 plall aalwo cuwal 2

T = 3.14 cun T2 6l aaluo

Aadlill e aalwall picl 3



axopll Ul yaao Jasll glgl

(2-1) Joc ddjq Jn

Joail dhy)a :alAasioll

o daJa) dalinodl ywliall clang (o Jugadll

ey o
Enter temperature

:ayoj)lgAll

/ Enter unit (C or F) / . . | O_JUAJ' Ol_]_') [O Y | d-o | P | 1

Calculate
(C=(F-32)/1.8)

- WLl 6ang ggi pariwodl (Jo (Jbiwl 2
[ No Yes—> (F=SI?:I.:(: 32) R
(ulgiygo gl njhow )

fompmcmmpmwm / 6)inll o gl awudl aloleall pMI 3

C=(F—32)= T8aluw yul culgijgd Jo

&)1 8 Jugnill il aloleall oaniwl 4

(o) F=(C «1.8)+32 culgiygd Ul éyjuluw (1o
bl 6angl gail aws §lnll aays el .5
glhall

:wpi . I.-. ‘I‘e - s

Joail dhya :alAasioll
aalivall juldll lang (b Jigaill

Jlab1l
: drojjlgall
m 028llg oLl (p Jigb Ll Jugai 1

/ Enter untt (M or ) / Johll paniuall (o Juéiwl 2

Calculate
(Meters = Feet / 3.28084)

Output Meters length Output Feet length

Jaaall Johll £gi paatutoll (4o Jibiwl 3
[ No 0 Yes—> (Feex=$aaelxcel:sh:ea4zaos4) (ro 20 fo TJLL’Oi)
Jliolily gl s 13] dlleoll paaiwl 4

Feet=Metersx3.28084

:020lL Jghll gb 15] dsleodl 02wl .5

‘ Meters=Feet+3.28084
@ wball 6ang) gl aey Jigb Ul picl 6
.&uglholl
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S

=1

Variables Jlpiall

&l 16,8 g danlg dladed plaiwl egiio aolp elidl e 6)28)1 W Al (jghb aolip plariul axo i
G gl audll A b dgclgilg Cilpiall Jio duwlwll aumlaall g ile bpeill agall (o axopll oled
Jio aalino glgil  po il 0am ygai i (Jaoug Lgis il (ujad Aoy 85514l 16 5kl o Cilpgioll 29
duouw’ dpami Lyl Boolean duahiall audllg string paaill float &y il slacll integer daganil slacill

JGhl 10 draunill aclgdl 166g xiap adyyhy Glpeial

Juaitwl input() albg duwbidl e Slogleall pyel print () ald rola';lwld@béﬁgﬂojmqmpmm
b oleiiw alg el Abglglg gaill 1o aulwall Sllasll jgo) e Wyl Gpeiiw oariwall (o Gl
JAudi apwlwlll oyelaall oam str() g int(), float(), Jio éuwliall Jlgall olAtwl aalinoll glgjj_ll g bl Jgad

Jolil 16 611009 dlleo poly dlial ulwll

Variables Jlpiall : yugjall dhA

JRio (Je glcll alpioll

lpeiall glgil yang

lpioll droui Aclgd

duwlpd ann Jlpeioll olaniwl

(Print) dll> plaaiwl —

python3

Input() dll> plaaiwl
bl glgil g Jugadll
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u2iall 0ggao e b2l

ilpsioll clgil sle bl

-Gl aclgd Liclpo aagap ad)jhy pio droud

print() &l> dabg e o1l

JoLb 16 dwlunl Slilosll jgo) alc il

bl Gl A10ii Gbglgl juad

input (Jal> daubg e O 21l

(Variable Declaration)dlpsiall (jc el

Jigal plasniwl bl glgil u Jugaill

(string ) i ylily

OOO
OOO

(Float) &y puc dyoac by

=3
||

(print) aclb -l Ul alls

(Boolean ) dudhio cbl

Lﬂ—_-]J

(Type ) il cgi dld

-]

(Input) Jhodialls




=

—
Variables cilpioll : Lol §ljgl
.qULUIUJ’g"UngLéJ Lo_og aliallg 19dll dlno duogleos daell Ulwa :alauiod | LJ.DJ:("lﬁjg

el aai i way (Force) 6gall - - bgpuill

Janll (o pblg ol gliall ggai i unyg (Mass) aliall - (I-1)

1§02l dhy A :apojjloall

(Force) 6)igall 5all oaxTwall (o Jubiwl 1
gl

ol gall (Mass) alisl pariwoll (jo (Jbiwl .2
(andl o psl jgad g pariuwol) dAn Lo)

Acceleramo e Mass :ygild)l plaaiwl (Acceleration) dlagllcuual 3

I aliall [ igall alnno = alasll
/ Output Acceleration / oLl U'LLC CLD_Q” CLQ.LO 8.Lb| 4

ol Ulowlsill

1 # pxdiedl go Ull, sl i
2 var_force = float(input("Enter the force in Newtens: "))
3 # el ge S AR ol ge oWl

var_mass = float(input("Enter the mass in kg (must be greater than zero): "))

Acceleration = var_force / var_mass

5 # oo Aasidy daddl Gl
b

# dad g

print("The Acceleration is:", Acceleration, "m/s?")

Out put

> "C:\Users\HP\PycharmProjects\pythonProject 10-1\.venv\!
Enter the force in Newtens: 45
¥+ Enter the mass in kg (must be greater than zero): 17
= The Acceleration is: 2.6470588235294117 m/s?
=3
ms " Process finished with exit code 0
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Variables wljoiall : Jo=ll §ljal

Lpolnil s16 aaljlig 6 gl ngdll duogleoy Joaradl Jouidl Jlwn tala all (Joc dd)q
(cpigull) 62aqu 613gallForce 6gall iAol

(r-1)
o 151 ggad i pariutoll dha o) ) (Jially) 623gy Displacement 16 aaljLl
(jan)|
(Joalb) 6angy Work Jaawall Juidl :cula Aol
:§oall ahyA :auojjlgall
/ Enter (Force ) /
61aq) Force 6jgall 6gall pariutall (o Jubiwl 1
y (Hguilb)
/E(",;i‘:'p',’;jﬂ::ﬁﬁf;‘f;)“/ Displacement &xljgl oariuall (po Jubiwl 2
(panl o psl) L (jiall) 621y
* (Joal) 63ngs Work Jsutdl aolipll ey 3
Calculate

Work= Displacement * Force W=Fx D dbleall planiwl

Aubliul e Judl aobpll a4

A

/ Output (Work) /
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Variables wljoiall : Jo=ll §ljal

(r-1) Jocadyg Ja ili

ol Ulowlsill

var_force = float(input("Enter the force in Newtens: "))

# el ge S AN ol e aSlll

var_Displacement = float(input("Enter the Displacement in kg (must be greater than zero): "))
# ool alaaiuly Jaall Clas

var_Work = var_force * var_Displacement

# Judll (age

print("The Work is:", var_Work, "Joules")

>
y

"C:\Users\HP\PycharmProjects\pythonProject 10-1\.venv\Scripts
Enter the force in Newtens: 65

Enter the Displacement in kg (must be greater than zero): 14
The Work is: 910.0 Joules

Process finished with exit code 0

ahalo
Jpe bac Ul yall Jgad float () all plaaiwl o5 1

43



L]

Condition bg il

(<=l == Yo ajlandl aildac .calhall Sl duwlwl Glgol ()ghl asl 16 dubpidl Jigallg dijlaoll lilac pi
eubpiul Jigal pladiwl &udhioll bgpill 303 or- and cillac W AL Lody oudll &hjlaoy W aouwi => =< >
Utle .auaLoliog dulclai 1T xoll Joa Lo 83230l bapill e el dalido slghl Awaii lihoy else | if, elif

16 2cluy Lo @yl 0am e &l 8alino Jilw) dclinl bgpill pladiwlg dlueo doud 1yani likoy o Jiall Juuw

.aWleoq digpay gpl_i}ul @omdm Jomvi]

duwl)d amn Gubhioll Ollo=llg Sl Ul ( jay - bguidl

if - else -elif- dub pidll Gillosll @bg : bapill @

] e Jhall AL § 2 )
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(]

.Condition baiul :oleill Gl

.Gudhioll djjlandl Uldac jaoy e Oyeill

. (and, or) dudhiall dijléall cldac gl beill

hlall STl (else if elif )aub pidl Jlgal e b eill

:Condition bgidl dwquwhh ulhlhno

ono
e
ofic

(Expression) pu=ill (Condition): b pw

|
0«0

(if, elif, else ) aub pill Ullo=]l
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L]

Conditions .bguill : Ja=ll §ljql

X, Y (Rl djjlaall allac ibgil Joli alac o o pi

ol Ulowlsill

1 X = 10 > C:\Users\HP\PycharmProjects)
2 y =5 y? False
3 print(x == y) # False — | True
; - )
4 print(x !=vy) # True ) True
5 print(x > vy) # True =¥
. m False
6 print(x < vy) # False -
7 print(x >= vy) # True » § True
8 print(x <= y) # False False
o . . o o P . o . c.-
awbhiall dijlaoll Olloc puleiaic aple 2150l aleall gl iy Lo
:aubhioll djjlaall Ulloc jgo)y yuc V=il
s 13] Lo §anill paniu joyl Ao ()i (uoleioll 0go (o 151 <—
5==6 Loy, True Qilll 5 == 5, Jlodl Juww gle . (iglutio | pioudl! (==)-0lgluall
False ALl
e .cpinglutio pe pioudll cuils 15] loo Gani jol lhm Ui O < (! =)élglurall pac

False ailWl 51=5 Laiy True il 5 1= 6 Lol Juw

JUgll doydll cuils 15] Lo Gaail paniuy jogl 1am Jf e w5l 1oty <—

False a3l 5> 7 Ladw /True Qiltl 7> 5 o Jtadl Jw (ile aitil (po pol oo el

&l o sl jugll donall cuils 13] Lo g8t jol 110 i adgiuny - <— (<):po Ul
False 2l 5 <3 Loy, True QW13 <5 Jliall Juw e

UUgll douall cuils 15] Lo Génd) joyl 1am Jf e w50l (>2): gigluy  <— (>=):1gluy gl go psl
True il 5>=5 ol Juw e alil dagall gl gl o pbl
False Qill4>=5 Loy
ql (o Ul gl dagall cuils 15] Lao Gaady oyl 1am Jf ausgi i)

6 <=5 Laiy True Qill 5 <=5, Jliall Juuw (e aplll dagdll aglui | <— (<=): gl gl o Y8l

False QJ‘U_II
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L]

O.LQbJ.OJ|GJJLQDJ|ULLLO£pJ19_IJLCO.LLCJJ$UJ|pJ&OJ|U1LC;DJLD

(and, or)audhiall djjléaall Olboc alc By=ill

:Jouiti llowll 0o 51 gl (b pd (j 2ol paATw dushioll &jlaall Gllac

Ao bapidl 5 s 15] True Jglll:And

B bapidl (o aalg JoIl e lb 15] True Qilul :Or

a=>5
b =6
c =17
print(a < b and b < c) # True
print(a > b or b < c) # True
print(a > b and b < ¢c) # False
print(a > b or b > c) # False
&b pidl Jlgall A pinl aliol
mew,mbPMMﬁgmpiﬁm“ﬂdembdb%pIﬂumﬂquunwmMnm1mqm gmgbmdﬁp
.alAaaall daudll e el duwliodl dlw Pl yaai else gk
:alauiall

.asud 1)l wgw Ulg alkodl 01wl loaic jhad elowdl culs 131w Aolip alis
16 1)l Oguw Lig 0 Jha iy aolip 4y

‘aojjlgdll alis
(S thai elowdl Joo ) Jwl 1
akuipl 2
(alho pxaiwlw) bl aei Ul cuils 1313
(a6 i) gubl U i culs 151 .4
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:Juall Ja gy

Goadl ahya

\V4

/ Ask :"Is it raining ?" /

A

/ Enter: "yes" or "no" /

Answer == "yes"?

Output : "I will wear Output : "l will use
/ a hat.” / No Yes 7 an umbrella.”

ol wlayeill

# oahl Aa o 3l dadl ol Al i) sasy maliy
print(" is it raining ? please answer yes or no ?")
weather = input()
if weather == "yes":
print("I will use an umbrella.")
else:

N O o NN

print("I will wear a hat.")

> C:\Users\HP\PycharmProjects\pythonProject4'
y2 is it raining ? please answer yes or no ?
— no
]
" I will wear a hat.

[T ||

Process finished with exit code 0
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L]

(11-1) grahi Jlio Ja

anogall goaill anya gue ol aslhll  agiuo o) cuin Glgpal U ansll saell jghy 1l 3ol JoAiul
- al=ioll Ulib 10

ol Sloyledll

|lIiHHHIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

energylevel=input (" islnll seime joy J=oi:")

if energylevel=="K":
print(2)

elif energylevel == "L":
print(8)

elif energylevel == "M":
print(18)

elif energylevel == "N":
print(32)

10 else:

11 print("lus oys1adt ™)

O 00 9 00 g N NN

Out put
» + C:\Users\HP\PycharmProjects\pythonProject4
F L3l seiume oy JxoiiN
— 32
=
=4
= _ Process finished with exit code ©
L
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L]

.Conditions bgpuidl : Jo=ll §ljal Ja

- uasll g jiodl Ul jogliall (o asluall yuls 62ag Jgai aolip :alsiiioll Joc ddjq

:a4oj)lgall
(1-1)

Distance doluall pariwall po Joiwl 1

Unit gulioll 6ang oLl o Judiwl 2

:alhaodl guliall 62ngl laog duwliadl dlbleall oavtwl 3
(Hoghs ] Jio go J1gaill) 1000 * Jiody asluall = joghiall adluoll - -
(o Ul joglis (o Jigaill) 1000/ Jioghally aolutall = Jiody adluoll - -

Auglholl wliall 62agy Aolwall ubl .4

\V4

/ Enter Distance /

A 4

Enter Unit of measurment
Kmor M
Convert to meters:

Convert to kilometers: Yes !
(distance /1000)  [€ O > (distance * 1000 )

‘/ Output converted Z
] distance / -
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.Conditions bgpiul : Jo=ll §ljgl Ja guli

O 00 9 00 O N NN

=
» ©

12

:aua ol Cloye il

o~ oy O
#oaadied) e diled) Juiu

Distance = float(input(" Enter Distance: "))
#opaiiedl (e Gl iy Jldi)
Distance_Unit = input("Enter the units of measurement(km-kilometers, m-metres):")
#oghall Gl saay ) Alkad) Wl asy Jyeas
if Distance_Unit == "km"
Distance_m = Distance * 1000

print(Distance, "km =", Distance_m, "meters.")
else:

Distance_km = Distance / 1000

print(Distance, "m=", Distance_km, "kilometers")

& Yl

[T ||

C:\Users\HP\PycharmProjects\pythonProject4\.venv\Scripts\python.exe
"Enter Distance: 56

Enter the units of measurement(km-kilometers, m-metres):m
56.0 m= 0.056 kilometers

Process finished with exit code 0
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.Conditions bgpiul : Jo=ll §ljgl Ja euli

aAaaalblaciadl ale wyeill sdlaiioll (Jocdd)g
:awojjloall (2-1)
-number >l oariwoll jo (Jbilwl 1
:Condition bgpill parniwl .2
¢4390312Hgﬂa;4dok}ogbfdinnﬂalnnuuﬂjl -
.guhu312“gnag4aok}oymoﬂ}zlnnalmluuﬂjl -
(jap) gy jao  igluy JAaalibaell b Is) -
ol Sloyledll Goatl ahy)A

#opdnadl e ) Jusiad
number = float(input ("Enter a number: "))
# daad oaell Alla e @eadl
if number > 0:
print("The number is positive")
elif number < 0O:
print("The number is negative")

else:

NV 0 9 060 o &N NN

print("The number is zero")

"C:\Users\HP\PycharmProjects\pythc
-65
The number is negative

Enter a number:

F

I«

Process finished with exit code 0

52

Is the number > 0?7

Is the number < 0?7

No

v

/ Output "Zero” /

Yes*/ Output "Positive” /

Yes*/ Output "Negative” /




.Conditions bgpiul : Jo=ll §ljgl Ja euli

00 ol o @l i, auwlulll Slesl dhuw Guks Al Jos) caon (illg &l goadl abus gl | ac 8 5)q
- o1l dhy A b Ao JAidy 20Ul Jasy claylil
(3-1)

Y

Enter ( num_1, num_2)

l

Enter operator (+, -, *, /)

Check operator=="+"?

es7/0utput( num_l+num 2) //

No

Check operator=="-"?

Yes—>/ Output( num 1 - num 2) //

Check operator=="*"?

Yes—>/Output ( num 1 * num_2) //

No

if num2!=0

Check operator=="/"?

Yes‘/ Output( num 1/num 2) /

No

v ,

Output "Error!
/ Output Operater error / / Division by zero” ;
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.Conditions bgpiul : Jo=ll §ljgl Ja euli

(3-1) Ja_casjgJa guli

ol Sloyledl

VW 0 9 060 0 N NN e

# el e Ja¥l a3 Ll
axdivall (e Jg¥l a3l Jlais

num_1 = float(input("Enter numl: "))

i | g | I s
s ; Ju

num_2 = float(input("Enter num2:"))

#oaaiedl e

b SEPREG A | e Angihall bl ._, 1|

operator = input("choose operator (+, -, *, /): ™)
# el Al diw, el 5o ge il
if operator == "+":
print("result:", num_1 + num_2)
elif operator == "-":
print("result:", num_1 - num_2)

elif operator == "x":

print("result:", num_1 * num_2)
elif operator == "/":

if num_2 !'= 0O:

print("result:", num_1 / num_2)
else:
print("Error: Division by zero")
else:
print("Operator Error")

Out put

>
y?

)

"C:\Users\HP\PycharmProjects\pythonF
Enter numl: 9

Enter num2:7

choose operator (+, -, %, /): *
result: 63.0

Process finished with exit code 0
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.Conditions bgpiul : Jo=ll §ljgl Ja euli

(Bulunl adosll elpl) andleol) ejy @ls] - Al
aulasll dagil aclihll 6gha i -
aplun]l aulosll 2l A ol result peio aols] gl Jial o -

(3-1)J—ocdad)q

\V/

Enter ( num_1, num_2)

Enter operator (+, -, *, /)

—>» result = num l+num 2

Check operator=="+"?

No

Check operator=="-"? es—> result = num 1 - num 2

Yes—> result = num 1 * num 2

Check operator=="*"?

No

Yes—>result = num 1/ num 2

Check operator=="/"?

No

}

Output "Error!
Division by zero"

Output "Result"

/ Output Operater error /

End

\
A
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.Conditions bgpiul : Jo=ll §ljgl Ja euli

ol Sloyledl

1 # oaaduwadl ge Jyd) a3l Jlail
2 num_1 = float(input("Enter numl: "))
3 #oediadl g SO S Jlsi
4 num_2 = float(input("Enter num2:"))
5 B oestadl ge dlad) Al Jund
6 operator = input(“choose operator (+, -, x, /): ")
7 # bl Al i, el g5 g Giadl
8 if operator == "+":
9 result = num_1 + num_2
10 print("result:", result)
11 elif operator == "-":
12 result = num_1 - num_2
13 print("result:", result)
14 elif operator == "x":
15 result = num_1 * num_2
16 print("result:", result)
17 elif operator == "/":
18 if num_2 != 0O:
19 result = num_1 / num_2
20 print("result:", result)
21 else:
22 print("Error: Division by zero")
23 else:
24 print("Operator Error")
Out put
> 1 C:\Users\HP\PycharmProjects\pythonProject
5l Enter numl: ¢
Enter num2:8
= choose operator (+, -, %, /): x
=4 result: 72.0
-

Process finished with exit code 0
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=

——
Loop &l

©olaaiwl algguy dlowedl (o degono Aol JhaT el aulig .axopll 16 alleog dygd L;JngT aylall olaadl agj

ablac Juaai o yji dlhlaiall alail elaniwlg Cloueill 1o degiio Acgano e jiatll 4yaii eliday for  while

At Auaii duayal iaoliballg aanill o 1y jo wuai continue - break Jio aanill Jlgag wibgiuall 631910

python 9

duwljd

duwljd dm

duwljd dm

duwljd

.Loop jlall :yugjall ahA

A(while ... else)- (while loop)ayliadl Glaladl

(for loop) éulyatl skl

(Nested Loops ) aalaiall culalall

(Nested Loops) alalaioll ]l )i
(break)alls

.(continue) all> . o
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)
C
b E»-'

.Loop 4l :aleUl O

.ol 16 Jiaill pggao ilc Wil

(while) alall plarniwl

(for) &lall planiuwl

(for)all> planiwl Alpaldl o 120 1bac oy Gloyled JiAd

(120 b §ani lallb o i jliail (While) il plasiwl

-ulgi Ulo (ll duxop Jloyed Auaid el while true dllall olaniwl

.(Range) dllall dlolaaiwl e o yeill

.(Break)&ls lc Wil
(Continue) al> e Oyeill
.Loop jja1ll -dugwb Jhlhno

5
(While) all> (Loop) ayjljat aala
(Object):p (for) allo

—G*
<)

(nested loops )aalaiall cljlaill (loop infinity )g‘leg_i.LUUUb.l'_”
(Continue )all> (Break) alla
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k=2

allls
Loop jljaill :aliol

‘dngo blaj guhiq 5-1:p0 sladl aclb :aladdall - (1-1) JL_io
Glalnl i Jiail gl bub (o 2y U while dlall pladiwl aic Jraleioll a5l

élgi LUl
- (Loops)cilalall 16 Ll dpuipl cligandl apd ule sl :8uoj)igall ulis
:JUadl JUA o

daleil 1o Loioll a8 ey i poiall Gylanl Ao AN ol pdioll uang 1
(number = 1) duxopl

aall i el oo (number <=5) go aalll 16 pariwall byiul 1 adgill byd 2

Al dulgi 5 (o psinumber éaud auni Loaic Ao giiw
(number +=1) aalnl JAl :poialldableo .3

/nitialize number =1 /

Yes
/ Output( number ) /
\ 4
No
number +=1
Y
End loop
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(1-1) Jlio Ja gli

daoll alod=ill

Input Out put
1 #ysad)l aas » + C:\Users\HP\PycharmProjects\pythonProject
2 number = 1 4, o Number is: 1
3 # while sl il giadl byt 5 i o B sl J3 = Number :?.s: 2
4 while number <= 5: = Number 1s: 3

. . = Number is: 4
5 print("Number is:", number) = .

" . » Number is: 5

Sall bt U Jemdl bl i) Al o
6 Bl byd ) Jsasl lesl peid) Al " End Loop
7 number += 1
8 print("End Loop") Process finished with exit code 0
- 1 .

For dlal polariwl JUall yudi Gun)

-range olaaiwl Jiiaill §laig (number) peioll 12y aiy .1
.range (start, stop) dll> pariwi .2

5 uulmo,o@mupdmuugumy range(l, 6) @l pariwi .3
.62 )20dl doudll L Joleill duaisbqg range dllall jule J._l_btl'."

.range(stop) @

.range(start, stop) @

.range(start, stop, step) @

Aol Sloyledl

o

g N NN

# AN Gl

for number in range(1l, 6):

print("Number is :
print ("End Loop ")

# JSN Gty eid wasd fop Al alasiu

, number)

Out put
» | 1 C:\Users\HP\PycharmProjects\pythonProject
& Number is: 1
— Number is: 2
=)
m Number is: 3
= : Number is: 4
L_J .
» = Number is: 5
. End Loop

Process finished with exit code 0
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Loop Jlyaill : Joa=ll Gljgl Ja

.while dﬂlﬂgﬂlibwlé (6-1) JL—io

aio Jasiy ool 1o Gcgane ua aulac go axopl 16 (Ioop)ail i e skl

Input

ol Sloyledl

N O o N NN

(o]

# famall Hs el AdS auas
correctpassword = "1234"
# opaiudl J8 e Al g dl RS (pias 5 A2 U4 Alds password  paid A
password =""
# s Al dilhe (e (g3l
while (password != correctpassword):
#os Al 5 JAaY) st e bl dasia je gl AdS cals 1)
password = input("Enter password : ")
# ool Al ahl dsthdl Gus 1)

print("Password Correct.")

Out put

> 1
&l

e Yl

m dh

"C:\Users\HP\PycharmProjects\pytho
Enter password: 111
Enter password: 121
Enter password: 123
A1l attempts finish.

Process finished with exit code 0
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lﬂ"UjI (6-1) dl_LD g &IL'I'
:Alpo Gy JBho Ul alglae dac ayang ol aoliyll pghi

ol Sloyledl

1 # damall sl A daas

2 correct_password = "1234"

3 # ozl OVgladl 2ae

4 attempts = 3

5 # Y gadl 2o Ayl

6 attempt_count = 0

7 # gyl A4S dathe e (333

8 while attempt_count < attempts:

9 #opaniad e eyl A Jiy s

10 password = input("Enter password: ")
11 # oVad dae sab)

12 attempt_count += 1

13 # s A e @il

14 if password == correct_password:
15 print("Password Correct.")
16 break

17 else:

18 print("A1l attempts finish.")

» + C:\Users\HP\PycharmProjects\pythonProject4\.venv\Scr:
5o Enter passwords: 111
= The password is incorrect. You have 2 attempts left.
= Enter passwords: 21
= : The password is incorrect. You have 1 attempts left.
-
Enter passwords: 12
il |

A1l attempts Finish, Please try again |

Process finished with exit code 0

62



for dl> plaaiwl Al Ja(6-1) Jdo Ja s

ol Sloyledl

1 #olay) adiedl e ay S daaall 2K

2 correct_password= "1234"

3 Bl zseadl ¥ adl e

4 for x in range (3):

5 password = input("Enter passwords: ")

6 if password == correct_password:

7 print("passwords correct")

8 break

9 else:

10 print("The password is incorrect.")
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Loop Jlyaill : Ja=ll Gljgl Ja

aic (Jeall 229l 2o aolipl aijld) of yaw 1bac pariuall pady xolip orani :aladol|
:a40j)lgAll aylis

.airoad wglhall 529l igluy peio e el 1

ool (o A dac pbiwl 2

- el ! 16 5230l 529l go Janall saslladtho 3
JBouléglac 16 pasiuall paiugg psibasll @by gy psl glb 15 -
JBoulégac 16 pasiuall paiuyg jeni saell @) gihy jenl b 13 -
.ol ngiig wyeall sael Glho Jarall >ae)l dllw) dcib =

(1-1) Jac asdyg

ol Sloyledl

1 #oanas chadl 2l e ey
2 correct_number = 8
3 player_number = 0
4 #oaondl sl g Jaadl sl Al
5 while player_number != correct_number:
6 # il e a2 Juil
7 player_number = int(input("Guess !what the number in the mind : "))
8 if player_number > correct_number:
9 print("player_number is higher ")
10 elif player_number < correct_number:
11 print("player_number is lower.")
12 else:
13 print("Correct well done .")
Out put
> "C:\Users\HP\PycharmProjects\pythonProject
y? Guess !what the number in the mind : ¢
__ player_number is higher
. Guess !what the number in the mind : 7
=4 .
m =~ player_number is lower.
# Guess !what the number in the mind : 8
A & Correct well done .

Process finished with exit code 0
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Loop jiaill : Jo=ll §ljgl Ja euli

alatiall | assq
12 iagl go wall dldac johy hiuy o aoliy oo

(2-1)
:auojjlgall
a pAllgmll Jgad acub wglholl 59l pariwall (o Jibiwl 1
12 igluty gl o Jenl daell b 13] 2
12 gl 1 g0 olacl 1 Janall sa9ll ups dclind dyjliaT 4l elddl -
JUATI poio dawd * JAaaall 529l = Al dbleo planiwl -
(auolipd! g ail 51l aan Lo). audd dllw) guhy 12 (o psloasll gl 151 3
Goadl ahya

\V/

/ Enter number /

N print between 1
© and 12

Yes

Loop
i from1to13

Calculate result =
number * i

A

/ Output result /
: G
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(2-1) Jocadyg Ja i

ol Sloyledl

1 B opsiadl o a8l Jusi

2 number = int(input("Enter a number:"))

3 # AN daa e @il

4 if number <= 12:

5 # o cpal s deldas oLy

6 for i in range(1, 13):

7 result = number % i

8 print( number , "x" , i ,"="  result )
9 else:

10 #oas Al (a e

11 print("Please enter a number between 1 and 12 .")

» + "C:\Users\HP\PycharmProjects\pythonProjec
R Enter a number:é
b6 x1=6
P 6 x2=12
=3
w & 6 x3=18
T & 6x4=24
A & 6x5=30
6 x 6 = 36
6 x 7 = 42
6 x 8 = 48
6 x 9 = 54
6 x 10 = 60
6 x 11 = 66
6 x 12 = 72

Process finished with exit code 0
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==
.Strings awnil Jw Ll

gl @246 cils elguw) yulisl aolle JAl> ayliiall jgopl gl Wl (o Ll Jiod daopl 16 &wnil Juw Ll

jgoylg pleyll Jio wn Dl (po gas gl vililwlg gogaill Jriad a3t Jwllil 0am axopl &) 16 (83g2)0
il alulull Jal 65330 Wl gul Jgogll Jaoy Lguwg Uy lgeo Joleill Joai (pilad 612y ol dolal
éunill Jwludl 20a aldac eyl all (o 63230 eljal alaiwl (Slicing) ghallg (Indexing) dwpgall olaziwl
120 a8j20) 8unill Jw Lull &5)lao LAl 0po 1o s D sunill Jw Ll jlaig sl gl uni 2o aouwi(Concatenation)
~upper() Jjus Joll ol Jeacapitalize () awaill aludull Jgb opeallen() Jio 6160 Jigo 16gi lguiyigl lgélhi
Al o eja Jladiwd replace (), adl JAl (a0  ai e el find() 6 peo gl 6 pus Ol il il Jigail lower()
g 8upiicg 8auno slac Ul gogaill Jugas float() -int() il aowi Ly f-string 23w pgaill Guuiill dulao|

-6a100ll Jlgall (o lojicg - waniiall j10 il 615kval center() g ail (o (120 cja jhaT a9 roa;m_u count() alla
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4

aunil Jw udl : yugjyall dhA

lgnilnag aunill Juw Ll )i
il Jw i Slloc
.indexing duwgall
duwl)d gl Slicing ghdall
.Concatenation dauall Juw i 20 R —

- Gunill Jw ol jhas
. Comparison ajjlaall
s Jw ol Jlgo
Len() dunil ! Job @
Capitalize() @
Upper() @
Lower() @
Find() @

awul)y glina 2
P Replace() @ | |

F-string ®

python 11

int() @
Float() @
.count() @

.center() @
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aunill Jwllull 0ggao e il

"dagajo gng:)}c’) il Ulo e planiuwly duni Audw bl

Gunil duuduud! duwjgo e =il

il dlududl o e ja e Jganll Slicing ghall ddac e wy=ill

612 Ay dwdw e Jgonl (pini (uilulw gon

gl Jole planiuwly dunil Juw Ludl jliyai

= == ajjlaadl Joloo plarniwl aunidl Juw Ll ajjlao

Len() al> plariwl dunil dlwluwll Jgb dopeo

.Strings dunil Jw wll :auquhh alallhnoe

Indexing Gu)gall string dunil | Juw Lol
Concatenation dunidl Juw Ll g0 Slicing ghall
T=
Capitalize all> Lendll>
Lower dll> Upper dl>
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.Strings dunil Jw luwll :duquwhh ulallhno

Replacedlls find all>
Countall> Center dllb

Lgule 35l aleall il wing il dolall blaill s

16 wlilllg Jpgaill Jitedl lgolaaiwl yany il lalalig bgnll (4o dcgono 1o apnil dlwdull

daopl

-Joll el e Jgnall Jlio oo (o fagi dwygall i 51l gl Jgogllg duwygall

Lginlleog jogaill Juad dluludl o (ueo cja aliiwy (Slicng) ghall plasiul

¥ 2ol Jole planiwl dunj Jw lw a0 (Jhoy Concatenation

Bj4in Jpgai blail elit] 16 ackuy Low . * Lpall Jole plariwl duni lwlw Jliai Aoy

=< => <> o s Jio aglaall Jolge olaAiiul dunil Juw Ll djjléa] dijlaodl dlkoc droml 1450

al yuil center() capitalize()-lower() - upper() Jio JIga plariwl (adl Guudi duats 090 winy
Guuidl Jiguidl f-strings @l olaaiiwlg s dluluwll 16 STl

Aol JAlb 63320 (pani ey replace ()-find() Jio Jlga plaaiwl diars 0go Ly

int()- float() gl pladiwl agpdie gl axno slacl Ul s Jiga
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=

mlllm
Strings dunill Juw Wl : Ja=ll gljgl Ja

:@ladall (1-1) Joc dd)g
aglul g éulgil (o Ty cuny duni élutlw clidul

Goall dnya :auojjlgall
.A¢lo aulall doudy peio Wy 1
Jalholl dunill §juell oariwall (po Juoiwl .2
Y .Lgopidubg
/ Define empty variable G".l.lﬂl'|6JU_9_||L0)ATJML6.OQ@,UU5JO.OD" 6N ¢ il i3
reverse_word
.alAaoll
& :adul pgnill groa dlbleo paniwl 4
= aunill aluludl AT puaaiy plAll piall
/ Receive word from user i Rl P N
LBl peioll sl §og dlududl o

aunill alulul ST groas
alutlull AT gioal il peioll 2ol bl .5
aunill

Loop through each
enter word

Compile and reverse text
sentece+reverse_word

y

/ Print reverse_word /
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(1-1) Jocadyg Ja b

input

ol Sloyledl

|

(o]

10

FATRTR

# oAe b A dedy dvall ALLA (ol At aldll il iyl
reversed_word = ""

#oaadindl e duaill 5 Hlell Jlai

user_word = input("iEnter sentece or word to reserve : ")
#ocaall el iy 4y S8 dals L)

for sentence in user_word:

# d);\_»l Sal v\.:\}.aﬁl c—«; Alalas PAREN]

e,

reversed_word = sentence + reversed_word
#oduSadl duadl ALY dcldn

print("The reversed word is:", reversed_word)

Out put

>
y

o O N NN

"C:\Users\HP\PycharmProjects\pythonProject
iEnter sentece or word to reserve : kuwait
The reversed word is: tiawuk

Process finished with exit code 0

[(Slicing) éupA pladiwl ;) AT JA

aunil alwdull (o digeo cljal gl Jaoagl [start: end: step] silc Aaixi dayhll 0im
alosl bl guasl 1- doydy step Aoud (el 20

axopll Slaleill

FATRTR

#oaniedl e dsall ALAW Juaial

user_word = input("Enter the sentence or word to reverse: ")
# iall AL (el adalill aladiul

reverse_word = user_word[::-1]

# o adll duall ALl delb

print("The reverse word is:", reverse_word)

Out put

>
y

"C:\Users\HP\PycharmProjects\pythonProject 10-
Enter the sentence or word to reverse: kuwait
The reverse word is: tiawuk

Process finished with exit code 0
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(2-1) iyl Jasll adjg Ja

aladtall | guoAll j2) 2ol
- 2oUpll o al Jghi apungi allwy §og jll axianll aolall o A duall iy

1 §oaill dhy A :apojjloall

/Printthe puzzle message / _J_Q_Ul dgl . Ny . gJ CLJLLU_J CLCLLIO ,I

|

Define Variables Jelllanls Jioy peio (o gledl 2
[ | () jopl lino jll sl ol >ac ang ) jghs 3
.anlall \_OJAT 119 AUgo

Loop
player_answer !=
correct_word)

isplay the puzzle clue and the current

state of the player's answer J_QJ..” (1DJ.5 LOQJA kﬂjllro i | d-o d . | PY
+ s . . . -

Input Player Guess / J—QLH G“O*b LOJll kﬂjll @JUQJ KJAJ'D‘” LOJA“ db |Jl [

5 le aannll aolall o Jaaall ol (indexing) gogo 1jani - @

Jal
JUS Ay a0l Gl peioll Aoud Jiaei

] pelo doud @l o WDl - paviwall Gl

Jasall anall Gl + annll Ol g8go iing s iuall
aos aylgi s JA20) Annll Gl g6go 1) 4o WD +
oxiwall lal peio

For each letter in

f————if no item—
correct_word:

WAl (-) jodlg@arall axanll o il allw) aclb - @

Find the index of the matching letter R
Update player_answer to include the . anolll
correctly guessed letter

/ , /Z

O Twol) dreniy Al bl 5
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N0 N N R

(o)

10
11
12
13
14
15
16
17
18
19
20
21
22

2-1) &gyl Josll a6)g Ja gl

ao ll o=l

# lpueas el o an Al daaall 4K V59 A

correct_word = "Kuwait"
# opaniiall Helas ol el Al
puzzle = "I am a country in the middle east, my capital is where my name shines. What am I?"

#oomadl 4 Al Jial daaall A Gajal daey Jse M e Aluds olis)

player_answer = "-" % len(correct_word)
# LSl daaall AWKl aeas e oS S A paius Al
while player_answer != correct_word:
# ol 8 J sy el a e
print(puzzle)
print(player_answer)
# axdiiddl e s Jaal b
player_input = input("Guess a letter: ")
# daadl Gall ae @l IS 1) L A jeal dsaall A 3 G JS ant
for letter in correct_word:
if letter == player_input:
# ALK 3 maaall Gajall alee alad
letter_index = correct_word.find(letter)
#oolial adedl 3 maiall Goall Alal oS Ala) Zuaas
player_answer = player_answer[:letter_index] + letter + player_answer[letter_index + 1:]
# Ay Al Aol Al maall ueadll ye

print("Well done! The correct answer is: " + correct_word)

& Yl

m dh

"C:\Users\HP\PycharmProjects\pythonProject 10-1\.venv\Scripts\python.exe" "C:\Users\HP\
I am a country in the middle east, my capital is where my name shines. What am I?

Guess a letter: 1
I am a country in the middle east, my capital is where my name shines. What am I?
Guess a letter: K
I am a country in the middle east, my capital is where my name shines. What am I?

Guess a letter: t

I am a country in the middle east, my capital is where my name shines. What am I?
K----t

Guess a letter: v

I am a country in the middle east, my capital is where my name shines. What am I?
Ku---t

Guess a letter: w

I am a country in the middle east, my capital is where my name shines. What am I?
Kuw--t

Guess a letter: a

I am a country in the middle east, my capital is where my name shines. What am I?
Kuwa-t

Guess a letter: 1

Well done! The correct answer is: Kuwait
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(2-1) 8yl Josll a8)g AT JA

ol Olayleill

1 correct_word = "Mecca"

2 puzzle = "I am a country in the Kingdom of Saudi Arabia. I am the most important country for Muslims in the world. what am I!?"
3 player_answer = "-" % len(correct_word)

4 while player_answer != correct_word:

5 print(puzzle)

6 print(player_answer)

7 player_input = input("Guess a letter: ")

8 #oJaadl all asm e giall Asaal) RS (8 G S e el

9 for x in range(len(correct_word)):

10 if correct_word[x] == player_input:

11 P JREWIN) :1,.::1 & :.,;.an cioall JAdl el el Cuaag

12 player_answer = player_answer[:x] + player_input + player_answer[x + 1:]
13

print("Well done! the correct answer is: " + correct_word)

8)350 WA Lgy jolll dols (jgai i dladiio go Joleillg

:JUA o 6)pa0ll Wil go Joleill aleioll A pi
Jbo (5 lglgb) "Mecca" dnlall Gub 1519 O (o T_m' slacll U0 Aludw 2Jgil roa;mu range() e
Slacll aludw Qi range(len(correct_word))

for xinrange(len (correct_word)

aolaaiwl oy .1 - dalall Jgb gul 0o aghiyg  dolall 1o (eBgogl) Linjgs Jioy X sl @
w30l plakwl aalall 16 WA U5 (il Jgogl

"o Ol Gilaly 3-2 gogo J5 16 Cyand el il paaiuall o JBolai g ne @
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=

allle
List ojlgall

aiyo 8dy g alilwl (1o Cilegano auhiig gl aowd il uwlwll ddll Jslgll (o 22 Python 16 adlgal
lgijae) luulwlic jx pisdg 8280l clublllg .\ pgailg o8l Jio yoliell 1o dcgano (il aflgall oaaiw alleog

algguy lgeo Joleilig lghaei aylholg 5330 iy Il AT e

List aflgdll : wqgjall dhA

. Lol éuhusg Lists adlgall sl il
adgll pe bl
0lg_all

aflgall eliivil

aflgall e cillasl

Al anx S, T
. List dwuldll yplic Indexing duwjgo

Sl List aadlall polic | Jjaei
. List dajlall polic gnig ool
List aailall (o olic BA
Jen()aailall Jab slc Jonall
Lists: adlqdll/ guli
ifin-adlall 16 ynic 5gag o a5l @
oiuall jo doilall dley @ 2
Jiadl dulac JUA (1o dajlall polic go Joleill @ Q
oJlgall e jjall Sldoc ®

[iTany
JUwld
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List aflgall : ol Gl

Jlgall 0ggao e Wil

.6dl6 e bl

aaliro pJIgouﬂckﬂgm andlo eladl

aailall polic duwjgo e bl

aailall jplic pig aolo|

il o polic i

28l Jgb e Jgan

aajlall 16 pnic 5gag o A5

2wl (o aalld auxj

aailall jolic dcb

FeRRNITITeY |LJ_,OCU.'1JL08.U.U

0l Ul dunill | oudi




.List ajlgdll :auquhh ulhlhno

Indexing ajlgall duwygo Lists odlgall

Remove “allall pop allall
—
Len allaJl Clear dlaJl

Sort allall Copy allall
Split alall Join allall
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ol=oll Ulhnllo

NG Ul gaao laulg éunil Juw g @upirellg 8annll slacll Jio il glgil o uasll (1o aails cliul Jan

s aalihvo adlgd 6ac gile aodlall

ol Ola=ill

0V 0 N9 00 o N NN

=
(o]

# daaall oael) Al

numbers =[1,2,3,4,5,6]

# oAkl ey LuL!

decimals =[1.0 , 2.5 ,3.14]

# all Jududl Al

string = ["hello " ," world" , "I am" , "student" ]

# g8V s A

multi = ["hello " ," world" ,"I am" , 16 , "years" , "old" ]
# ool Mg o saas das (Nested Lists):

name_degree =[["Fahad", "Ahmed", "Ali"],[13,14,15]]

dulac  JAl aliol  picq adlgall alc cildasll alc asLil

(0 golan pupgall) yupgall plariwl yoliell Ul Jgog!

Wl olaAwl aijaadl doudll Juaeill aulaol

append|() &lal plaaiwl &odlall dulgi Ul 603 polic dslo]

-pop() -remove() plaaiwl dojlall (o jplic i

clear () &l plaaiwl plisll 4ols Wi

len() allall planiwl &odlall Jgb e Jganl

sort() pdlqall 6 alaol

bl jueill 16 in’ plaiwl &ajlall 16 (=0 pnic 5gag (4o Gadll
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List adlgall : Joa=ll §ljgl Ja

-aladiall (1-1) Joc adjq
o230l (1o wilhig aaild (o awliouall joliell elowl By i uny 2ol
ol aan gile el @ gall cuny ad gnic JA) uilbagall jogl Jao)

1§oall dhy A oaw) :awoj)lgrll aulis

awiloyall ioliell elawl aails (e glcll 1
.element _name

! olindl jgoy aoild e el 2
/ doctre s Seranies / anjlall wiy ual element_symbole
.Juall

N aioubg . degree poioll je el 3
- Jao gl lanul

Loop
x<=5?(Are there more
elements)

v
/Display Message &Request lnput/ JQ_OJ_” LJLLO_LLU.U es _JJSLLQJl U_C d.LLC.l.” 4
aioyo (Jgaig o iwall (o joliell

Cradianul
-andlall poliell 22wy ayjliad aals elaw] .5
element_name dajlall (jo nic jphhy @
-0joj JBl pariuall (o wilhig
16 opthai 2o Jadall joyl Gilini ity @
:ojelement_symbol dajlall

eula i cuils 131 "Correct” 6jlc jghay -

s Display “Error*

HRiodl oud Ul Tuwrg Ay
.degree

eyla i cuils 131 "Error” 8)lc 1l -

degree anyd 16 i (Jgu bl
adallaaallighy 6
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(1-1) Jocadyg Ja b

ol Sloyledl

1 # A0l bl clenl 23

2 element_name = ['Sodium', 'Potassium', 'Copper', 'Iron', 'Mercury', 'Lead']
3 # A Al bl e Ll

4 element_symbol = ["Na", 'K', 'Cu', 'Fe', 'Hg', 'Pb']
5 #oaE & peendl e ool X juddl Sl

6 x =0

7 # (o= 3e0) psiad Jlad)

8 es = ""

9 # o esiud ia Clal degreesidl o)

10 degree = 0

11 # ooaddl o ol e o jaoall A G adud 0S8 Al

12 while x <= 5:

13 # Jall ol e Jiad aasdad) e Ol Al Zelik

14 print('Enter element symbol for', "(", element_name[x], ")")
15 es = input()

16 #oeodl Gagll wo il daadl el g 1) Lee giadl

17 if es == element_symbol[x]:

18 # 1 e asiad Ga sl dase sag g8 1

19 degree += 1

20 print("Correct")

21 else:

22 # s Al oase dLla Sl g€ 1

23 print("Error")

24 #oaas by x Wl g Jd el b Jass

25 X += 1

26 # K Y ve e asiadl Lo doaa 3 &I 2o, el

27 print('Degree:', degree, "/6")

p + C:\Users\HP\PycharmProjects\pythonProject
What is the symbol for Sodium?
P N
Error
=  What is the symbol for Potassium? K

=4 Correct

= _ What is the symbol for Copper? Cu
-
Correct
» ¥ What is the symbol for Iron? Fe
Correct

What is the symbol for Mercury? M
Error

What is the symbol for Lead? L
Error

Your total score is: 3/6
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(1-1) Jocadyg Ja b

aleiall 20 aiislio Aoy aolsd] For alls plaaiwl Al A

anopll alagleill

Input
1 # Al g el RS (o ey
2 element_name = ['Sodium', 'Potassium','Copper', 'Iron', 'Mercury','lLead']
3 # g RSB i oy gl ey A oo BV
4 element_symbol = ["Na", "K", "Cu",6"Fe", "Hg", "Pb"]
5 # g oo el degree e g RN el
6 degree = 0
7 # A jale s %)) S s ol element_name
8 ~ for i in range(len(element_name)):
9 #OASE ge pae b element_name ) Jay psidl se g
10 es = input("What is the symbol for " + element_name[i] + "? ")
11 #oAdl 8 s pi s Jandl el sl ass element_symbol
12 G if es == element_symbol[i]:
13 print("Correct™)
14 # sad dad ) 1 cwa degree
15 degree += 1
16 else:
17 print("Error")
18 # RS Al e
19 print("Your total score is: " + str(degree) + "/" + str(len(element_name)))
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List plgall : Ja=ll §lgl Ja uli

:adAdioll (2-1) Joc ad)q

il huwgioll b od oaniwall (o ddasll lopvlic Jiolg a)lo aoils elid]
Joliel)

:apojjlgall

.agjlo andlo (e el 1

-Gailall jolic goad sum gylo peio (e glcll 2

: Ul Agail) dyilgi U ayhiad Gala elid] 3
2ac parniuwadl o Jubiwl - -
ayhatl 881 (1o Ay (0d) 1glud JoUl adoc gls 3] -
-a0ilal aawyg (it 06) Ul Ja0ll Joay il bpid gangy all3] - -
sum peiall 1o JAaoll pniellgon -

Jic loguido aadlall jolic ggono) (gluy il ulwall hwgiodl Jlu 4

. (Gajlall Jgb

(Lng'Ach__ltLLquﬁJljllchl) djucdcub .5

Aajlall acub .6

-l 0F 1A ulwadl hwgiody dcgiio (gulwall huwgiall) §juc acub 7

float &l (ipiac) ras) £gi gul Jaaal Jugai yo a5l -
- (break) agall auarsg (while True) adlgilll aaladl foleToTeTel¥eVolo iy
vl huwgioll ol s Oledwl -
numbers aojls 16 plo)ll gaai -
lplas] o il o6l 5ac len(numbers) =

lwaac e (sum) o)l ggoro daud) cuun] yulwall hwgiall

. (len(numbers))

83



List allgall : Jo=ll Gljol Ja wuli

(2-1) Jac as)g

Goadl ahya

3 # el il i e ey Declare
empty list and “"sum"

2 numbers_list = []

4 sum = 0
5 # dae¥ Jad sl sleadl Gl asial
6 while True:

o Jomal

input_number = input("(sleaisss "as' Jxoi) sus Jlsol slayii: M)

# Al Hasadd ipput() ssded Js

Loop \'2

; if;;;pujcfi_n;m::ri:ﬂ' :fm Prompt user for inou
11 break
12 else:
13 #ogome se ) psiad aad @l pall i
14 input_number = float(input_number) ‘
16 numbers_list.append(input_number)
17 # oosad J s Gl 'sum!
sum = sum + input_number
19 # ¥ Lugie Gl
26 if len(numbers_list) > 0: Convert input to float and

if the input is "a" No' —>| Add ber to list and sum

21 average = sum / len(numbers_list)
22 else:

23 average = 0

24 # ol ol dcll

25 print("Laiisols ces 5l alaeyr")

26 print(numbers_list) yis

27 # el L dcll -
X Calculate average if
28 print("__lustl bu.iati:", average) list is not empty

:

rint entered numbers print
average

> "C:\Users\HP\PycharmProjects\pythonProject 10-
25 (sl 'as' gsol) sue JLsal sleydl

}‘ 33 (sl 'eas' Jsol) sue JLsal sleydl o

43 1(slenis "as' Jsol) sus JLsol sle,dl

- 34 1(sleoys "as' Jsol) sus JLsol sle,dl
S 12 (sl ' es' Jsai) sie Jlssl sle,dl
= = A i(moyy Tt gsal) sue JLsal sblepl
= Ledlsoly aad 5l olae¥I:
» @ [25.0, 33.0, 43.0, 34.0, 12.0]

29.4 I laall bwsiall

aalino Jgla dxopll wlel 16 gl 4535 : ahnUlo
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. List pflgall : Ja=ll §hgl Ja uls

:alaudall | (3-1) Joc ddjq
(aolbUlg . acllall) oJlgall adleiall Jlgall ARl @ibdgi

:arojjlgall
A Wi oaniual gy -
.61)20 dago Juol 1
plgallpye 2
aolplgo agn 3
HuwliadljuAall oAl Jo Jbiuy -
alw) Jphug  (adlall Ul lgawrug 6 uanl dagedl oaAiuall (1o Judiuy) 1 ool sl 5] ]
WAl el af " alad Aagall Gold] Ciod”
Wie o 1o elolgo " sjluc jghy (&ubliul e &adlall gino guhy) 2 paniuall a3l 2
JhAD iy o, aaslall
(20Ul o 2 ) 3 pasiuoll jUalls] 3

JBol o Thay pand allw) jghy aaludl ShUAJT e bline ac padiuall Jasiisl 4

/Declare an empty tasks list /

:®‘

Display options to user
1. Add new task
2. Show tasks
3. Exit

v

/ Receive user choice /
Add new task . P
No

No
Yes

Exit program

o. Show input error
message
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List allgall : Jo=ll Gljol Ja wuli

(3-1) Jocdd)qg
dryol Olowleill

1 # el L s oSl | | o et Dl ae
Lgall .
2 tasks_list = [] : =
. daga dilsl
3 while True: ’ -“ e
. ! 2. plgadt goye
4 #opsiudl cljls gase —
5 5 " on @ | 3. gy
5 print("eleedi ,ouat™) .
. 1 :(1/2/3) s jusst sie,n
6 print("l. e aits") =3 -
- - slf lhuaus dagw Lol syl
7 print("2. slgalt pye™) —
- 3 i gl dageldl dalal Sas.
8 print("3. e,s)—*—“") Lealt N
Iojlasl Juaiad £ S
9 b SEPREGNON g K SO Ko * 'i 1. 3 Litay
10 choice = input("(1/2/3) L5 SLaast sisyii: ™) 2 L
< oplesdl e
11 if choice == '1"': 3 LA
W : EJ
12 # osun dege Jig) b 1 :(1/2/3) ,iaar SLost sy
13 task = input("sious degs Jisa) slopiiz M) S Thagus Lags JLss] sLep
14 B ) deed Bl . Liier s
elain dagaldl LsLal s
15 tasks_list.append(task) . et
16 # ozl Al oae 1. Legs Lslal
17 print("slais fagall islsl cas.™) 2. & | e
18 elif choice == '2": 3. pspat
19 # oled s e 2 :(1/2/3) s Lsst s,
20 print("elsett dasLsi™) pleadt iasis:
21 print(tasks_list) [tems' |, tesi,st , tias']
22 elif choice == '3': pleadl sl
23 # ool ol 1. Lags Lslal
24 print("eleadl s ous o zosall as.™) 2. pleadl gye
25 break 3. papadl
26 else: 3 :(1/2/3) juaa juast s,
27 # Uas Al unse plealdl a0 oo gypaldl ps.
28 pr‘int("a_g_x.o obas H LSl slay .M
o Process finished with exit code ©

Jutdl il JUl pbgall Jai ale Jowi duni dluduw JAlD oxxiwi\nalal -
;6| doleil 0aATwl
print("\npigesr ,ouei\Nl. Zegs i3ts1\N2. plgedt @ue\N3. 25a0")
Joduo JlaT elidtwhile True: aalh - -
Jail gl while g for dlaln elguw JiAdNGalN pub 16 02T break dll>
aalalgo agplig
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Python yg—0iL & o)
a_adyl Sl atiall @




=

—
uad Pl alaiiall :Python (joib daop

[Guuo 61209 65110 Joc @IJQT A10ii e aodei U lgigh Jlia)l dlang JLOLJ JC€ (Guad Pl alaiiall) 62ng GlAT

Ullgog w)leo (4o anlel ailo wubgi 16 degano (oo gllojaio b clguw aleioll gl i 1aiei Loilg aleiol
«aliro JAiiy dogleo ey gl @iueo oA 026) gl (120 £95g0 025 iy cpito Aliil 16 dnguwh

Glogleallg Jobill a2l 16 Wjleog Wljlgo (4o aalei o JUA (o legpite dyas gl Glaiioll 611g 16 aleiall 016

Jwhall Jnall JUA aliolilg Josll §lgl Guhig gugyall JUA (o lgauhi ai il

a0d Il olaiiall :aleill Clalil

Pb;ﬂ'ﬂbw aleiall ol jlaillg clulljlgbl 1
o £quinall Ay Guall 16 ailloj go (jgleillg dnlyly d5)liwall .2
.U,!pﬂljlbbiuulgmhumg Jloaleall as)jliog k._chLo;Jlkp:m_ll duoli 3

Lgio 6sclaiwllg pleioll lguuis! u’u_ll Jljlgall @ubgi 4

Alogleall ( huglig lghhg atladdiall i o Well phaill wljlgo jpjei .5

aa161 @olgo 16 dilogleall agiluuiaog Jraleioll bjleo guhi .6

.acqpuo pghil oleill dcgiio jolno rola';lwucaplg gU‘IjJIronzUIL;JIJLgo ol .7

-aullac agyhy dlogleoll 04gdig wuspg Jhioolj .8
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=4

:cqpitoll slacl Jalyo

6340l 1jani-1
aio bagllg cquitoll £9go 22N

(auwojjlgall) Jall ahA slacl-2
gl diweo dago Aaii Jal (o dluluiallg 631300l wighAll (o dcgaao lgil ale dwojjlghl Wei
(inputs) ClAaall JAol aiy cuny dago aiil dnopll aladeil (o dcgoao gl bo dlAdio Ja

[(outputs) U Al aL‘UJﬁJ (process) dogoll A1aiiq

§oaill dhyA slacl-3

o0 alutl (o 8ale Jgals. Jac pw gl aulasl ipo Jubai go (Flowchart) julwwitl hhAall
o aulasll §oa7 angi agul dhwlg dlnio dlasll 16 Aaliro 6gh Lgio b Jioy (Jlabll
aleinll Ulis 16 lgailbg o Jamlll 0am A pib 05 26 . il Ul 6gha

2ol aylis-4

U9 a2 olariwly do l Slayleill (o dcgano (ul Goaill Ahya Jigai o)

2olpll juial-5
Qg dolw 6)gay aolipll Jacg dao juinl Al djjlaog Wil JWolg polipdl Jusiini oy
alaall0am 16 (ang gl elbadll
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=

:cqpitoll 8a jisioll ciljlgall

ALl clisayg uljall Jnall JUA aleial lguuisl (il wijlgall pkheo aleioll cgpuio Joni) Ji agall (o
:cquivall 16 dionioll ljlgol) Uil A jiaall

File ____>new project 222 cqpuito cliul 1
New --—--=> python file 111 Jglb wlo elddl 2
Str (), int() , float() ,booi() (dudhio, dydac, duni) dlpeiodl e glell | 3
Print () alaurals 4
5 O ] [ ¥~ 4 dwlwnll alloell planiwl | 5
Input() bl Jubiwl alls 6
And, or uahioll Ullasll plaAlwl | 7
If elif else dub pidl lloell laATwl 8
While | for ayjliaill Jlgall plaAaiwl 9
dunil Juw Ll bl |+ 10
Indexing [ ] il Juwludl Guwpgod | 11
slicing aunil Jw ! apwdi | 12
+ concatenation dunil Jwludlgox | 13
*

Al dlududl polic Jhai |+ 14

Capitalize() -
Upper() -
Lower() -

Find() -
Replace() -
f-string -
Int() -
Float() -

Center() -

awnill Jwlludl JIg pladiwl | 15
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=

:cqpitol) an jidoll ciljlgodl :gyli

oilgall clidl - 16

indexing dwjgall - odlgdll e yda=ll 17

andlall polic Jpaei -

aoilal polic ynig ols] -

(pop-remove-po6 Il ) aodldll jo policwin -

len() doilall Jgb alAaiwl -

aailaly jnic 5gag (o 15U -

ool o anjls ale -

dailall polic acl -

aypiaedl slachl cun ) edlgall e jjall Sldac -
(Al Jow ol cuws
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=4

.cqpitoll an jidoll ciljlgoll :gyli

Jaoggq aan i g_u_h.uDI JUA bayyai Joesiudg ull cguwdl (o leay ggpitally Joxll aleiall 731_4
Ul 2 pidall Jgall JUA (o (odeioll gyjlito deilio oleoll

5 A £auirall olacl Jalpo dwylio —
Q cowll | cowll | gowll | cowll | coull | gcquull m
2 1 10 9 8 7
9 = 9 - ER
Q= | 3 A A 5 quirall owl
. 33%% s 35 53 § e
Jlha o gl Sh= EN= = il ) g § 3 cliac] clouwlg
JU 9 wi g - 3 o = .
i 3 s % 2 |9 42 5 cquitall
£9piLo
-1
-2
-3
4
£9piLo
-1
-2
-3
4

jail aeilio ayle Jguu gopitall Aaii gulwl Jo goul Jb (16 o J5 ol Lo Jgal 1am 16 aleall Jauy
Jnall dylgi 16 Glgall ao)g Jroleiol
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=4

=
;w06 )l olaiiall 61aqg 16 Lgilclio wing jgol

a9y i ulolb C6q) lguo cadl (Juo (&J_JLLILQ” 611q) dwodl alaiioll Jno e 6)506 0Ja8T Ly N

AL"ﬂJJJUJﬁ Jnoll dylay go lg) Woig uwai jgoleiall

copitoll 0ggan ani in aleall loadl gl lwwe lojlail a3 6un gjlito (o asla) aadi gl ppll - 2

aleiall glosl 1o

@J.QU@M|@4iﬁj’g,0jgyplﬂpdbpubgqﬂgl&ﬂ|dﬂ&”uﬂ.Cl,gbil”gd.ﬂ&ﬂ@JDfiSz__JllDdU_CijAﬂ 3

- Jab Ugl Jroleiall axlgi gull dgiall J5bicall Jag aliag il

Ug il e Jéu U duny claclll 529y roI}IJJJI 20 £9 ol Gupall cL@cTJul'AI Lﬂ_O odiol) ey 4

.@@I@mﬂgp&nﬂlgod.olgﬂl&cﬂgimougﬁyﬁuﬂlya_ﬂgo@ﬁugyp

apJl Ulyall 2o oudll iy lgouluig wuwlio (Piad hiwg ile (paleioll &Ulﬁ.l.o 24007 6)g)p .5

Loy
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=

uvg )l AN

oleoll Jujall pan aaoml

al yghi 26 il duauleill @slgall @8qits guiyig ojladl arhii e oleall ackuy

vl dwwliodl lagiliw g ahdgull juial ale oleall ey

Aol el b Juui 151 ,aleall agl @2 aleill nginal Ugiao Uauw (uyall slac] pisy
logleng pumlao (o aleiall apb 3lo Wyey i grogl panill JUA (o aleall guhiuy
Ulb O3B Ly 8018l 8nl lghali aig lga b (jo (aoiy o) auelao (Jo al 1ag 13log
asyliod sl axgoll gl duwjanll yao agle 2aiey 31 dyguill il 4o Lago juyall slac] 2z
anJl 6y elidl olzall

Bl J aw

-auldl hanll Jaadl ety gl ooy

=il Al walall 08y dpuinl i il as gl ekl pawlll) . duwlw Dl aleoll Glily
(Jodall (Giludl Jasll j510

gl pgul cuysgi

ol il elguw ayl 6ainwoll Jlacl ai dguiyai pgéy il slgallg aleol) juwlall Jgaa
.aydl plgo

gl uwhall Jnall jyéall 9)jgi dia

Ui whol dwouleil dagall Glasl wygall aupill Jolidl wagll) dquill Glaslll
(Gol=ll gl

Jyaodl jgi dbA cu yujall Jogul pAandll

8o Jau ol o g gl el Jaud ogul ualsioll doylio Jaw oy of ooy
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enetal Supervisory of Computing

audiofig

........... anll yguwhl éslo ujs ahA

Jwhall jpallahs cung gl

Jnall

gl

polefl] 621qll

WJJ&JI@U&JI Jo £l

Auwl)> dmx JAI lghaud al)

duqul dousll

éwayleill Jilwgllg aleill jolno

g o apsall ol Jganl o dugipl ogdll 1ang
ouolaodl pyc 2o oe i Loy dnnl JUA lgliead dudial | s1ioj

U

wogall el yujall e elifl lgoaniuy il jolnall Jaui
(éus) Wlgal »lgo) ayleill

Al 16 Lgolaniwl yhoy il pplnoll (oo 5ac angy U
wug)all dzub ilc ogiy 13g6 1algll

gojl

JULgiwl bl

5-3

Gilv>

)l £95g0 L wlinig lg) 0gtiguiig 6 uanl logleol) (uoleiodl Jodc dlugi
wwg)all 16 pjeiw il aumlaall g 64406 pleiall jgal 622gU sulgill A3l e -
Ll e blhang golgo plwiwl gl yujall cgvgoy Gleio gao (pje -

0acq ywjall lgblijlg (proleiall &y poell lall lgiuwliog lgagng doadall 16 cly*
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02l aliols

igodlig doaanll

aoslall




gojl

o490l

(Wbayiliw g dhuiilll) aleill agino

oleill Ailgi

U0l Pags
Jlodiwl blil
dnall cubg

allw Il aaplg dugel aclun

pleiall blit axgi il Olayeillg
Jolgil liwunig Juij i eio

Glgal plaaiwl aleioll go hall
0dm yuheig oygaill Jlwgg

J1 lgwlidg aleiall ljiail (gLl
Ulblitis gauo (aLsLon «dlgo
ljlgo (oleinll ad yujloy plwi
il LAl Jag sl paaill

JIgul ge ey gl wny aleill igino
syl

?anqu;g@ﬂl Lo

Glagiliw g ahddill nug

J9all jnivo Wwng go doariwall
aleillg aleall 4o J4y blial

LﬂﬁJllﬂ(}nﬁUdJU_c
oleall Jo gogl)
Jlc lgic p=ig oledll
Jljlgo glojleo Jaii
Jluug aleolilgl
Lo @nj aanlg Jghi
aaleiy i g8giy Al
oleidl dlac Jodsl

................. T e JRCAB)Q A
Jobis Jauy ailgll it sy alall puani go by Joc asjg o

L"ijI‘AJIqu'gii'JUI

Julall Jolil

eIl il Al ido

'_nil'g; lg bang

48 (g Loyl

wlaolll

annl | Jnall

oclal (g Ul aleall 2gay
Jull duwliall Olpsil eljnlg
Jiaiwl) aueil (e Wil gubei
Qi e ackuti aillg AL bl
el

O lAiitollg Ol ale b2l
U0) lglgla hihh 2599
i w@er — el @sgi bl
8)lgoll Juogi) dndslll
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. )l slacl cilgha

2aloll@line (o Ui gl pdeall Jub «uwjaall QAN JUA (1o gujall €gBgo 16 @818l eljal
Ao aclo lpiching :Agnag Aoy pdeill Ailgi / (wjall Olaml Wi
Jgad g @liall 1o 120 i ueg . edeill 2ilgi fwolam Dl el gieni) dhAll ow) gog oAl slacyl

o 16 4jgly 26 yuyjall dhA 64450

igha Jad il lghauwiy a8 gwyall yw adyyhl lhyliog Lols jgni cjgni (jgai i asy Juliall slacyl
gl Wb lpbldjlg uiogll Jole 6ghn (J5 16 biclo iolacll polic alold /651209 dablg

lo g olodo Ul aye JBug lgodl Jay Al J1o od=oll aling Lo WL Al wllhio lac]
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